Test 2 p Share Knowledge

1. Sales of icecream in 20 consecutive days at an icecream shop are: 62 62 70 47 57 65 47 55 44 65 57 53 68 48 41 68

59 9p 40 42. Compute:

- the five-point summary

- the variance and standard deviation

- |QR; are there any outliers?

Plot the boxplot using the five-point summary.

Find the 95% CI for the mean number of icecreams sold this summer (population mean) and the 99% CI for the standard deviation of the sales.

2. T-test for the population mean.
3. Chi-square test for the variance/standard deviation.

4. Linear regression model.
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o? The shop owner wonders if the mean icecream sales is 50 or larger. Does the sample show significant evidence to support this claim atthe ., si.c khowledge
5% level of significance?
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3. Test the hypothesis that the standard deviation of the icecream sales is 11 or smaller, at the 1% level of significance. o/ Share Knowledge
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4. At a local food stand icecream and soda sales are measured in 10 consecutive days in July: ndre Khouslbdoe
icecream sales (x): 18.4 15.8 11.8 13.9 12.7 11.8 130 1214 106 13.2

soda sales(y): 11.6 10.4-8.5 9.6 8.8 8.5 9.0 8.7 7.7 9.0

Construct a scatterplot of the data and say what trend can you see.

Fit a linear regression/model for the dataset. \What is the slope and intercept? Perform the t-test for them.
Compute the correlation coefficient for the icecream and soda sales.

Predict soda sales for icecream sales of 15 units.
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